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Note: All questions are compulsory. The marks allotted for each question are beside the
questions.
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Write your name, enrollment number, Al name, and subject on the top of the first
page of the answer sheet.
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Answer any one of the following questions in about 40-60 words.
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(i) SR RATERATT & forT AT s F=TE # g2 g % S UTH 1 UE T AHN
AT TH UTH T SATT FAT LAqTAT 52 (UT5-8 )

Read the steps of activity given below and answer the questions that follow it:
A steel spring with its top fixed with a rigid support on a wall and a metre scale along its
side are arranged as shown in the Fig.

Steel
spring

hanger
meter

scale E|

100 g load at a time is added on the bottom of the hanger in steps which means that while

Contact for Solutions Unnati Educations
9899436384, 9654279279



putting each 100 g load, the stretching force is increased by 1N. The extension in the length
of spring is also noted each time, till the load reaches 500 g.
(i) Name and state the law which is demonstrated in above activity.
(i) Plot a general shape of the graph between load and extension for above activity.
What does the slope of such a graph indicate? (See Lesson — 8)

(B) 0.2 cm? squed ai=uE A% ATl T T F G B qdTS F 25%  G@ % o
ATFYTF T T AT Y| AT Z Y = 2 x 101 Nm-2, If< 9 I &N & T4 IHIE F FHIeT
ST AT Sedsh AT 7 I &7 0T 9T T2 (IT5-8 =)

Calculate the force required to increase the length of a wire of steel of cross sectional area
0.2 cm® by 25%. Given Y =2 x 10'"' N 'm2. Further if this wire is cut in two equal halves,
then what will be the Young’s modulus of each part? (See Lesson — 8)

2. foferea & 9 e UF 15T 7 ST AT 40-60 oU5at 7 ) 2
Answer any one of the following questions in about 40-60 words.

(A) 200 I AT HT TH A Fad At 0.04 FeX F AW F qTT A9 Faam gl T
THHT AT 10 Fehe 2, a1 Aerterfaa Ruaet ax saehr Rafast siw wfdsr =t i o
¥

(i) mTer fRafa 9=
(i) =7 Fufa o= (IT3-13 3F)
A simple harmonic oscillator of mass 200 g oscillates with amplitude 0.04 m. If its time
period is 10 s, calculate its Potential and kinetic energy at
(i) Mean position
(ii) Extreme Position (See Lesson — 13)
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(i) T C 3T D FIRT 377 ST 7ol QAT & TRT 1 9T gl STTar g2
(i) T F@T AT & T Arrw A ST AT Tt gy F 91 99 S ¥
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Read the steps of activity given below and answer the questions that follow it:
e Take arigid horizontal rod fixed at both ends.
e Tie a loose but strong thread and hang the four pendulums A,B,C,D, as shown in Fig.
e The pendulums A and B are of equal lengths, whereas C has a shorter and D has a longer
length than A and B.
e The pendulum B has a heavy bob. Set pendulum B into oscillations.
e After a few minutes it will be observed that the other three pendulums also begin to
oscillate.
(i) If the pendulum B oscillates with the frequency of 2 Hz in above activity, then
what will be the frequency of oscillation of pendulum C and D?
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(ii) What is the term given to the type of | ]
oscillations that pendulums C and D execute?
(iii) It is observed that pendulum A oscillates
with relatively large amplitude with its natural
frequency. Name the phenomenon responsible
for this behaviour. C
(See Lesson — 13)

3. fRufefea & 9 e TF 157 7 SO AT 40-60 9Tsat 7 ) 2

Answer any one of the following questions in about 40-60 words.

(A i g=or v gfvarii w3 fR ot T (56) Aer Sead TR i A Ay
3300 MHz 2| T 38 Yf=AT T FI q-TT HAL0 o6 HILAH | HAd (6T ST Gl 272
FI ITL T ATEAT FIo (a3 - 30 TH)

Define Ground wave Propagation. One of the fifth generation (5G) cellular network radio
waves has a frequency of 3300 MHz. Can this radio wave be propagated through ground
wave propagation? Explain your answer. (See Lesson — 30)

(B)  STRTETr =% S TS AU AT ASATHH o ST ATSH AT FT STAN Fileh AT o ATALAH
TETEO U I KT & o S S7d gl Al Yo gRT AT, 1897 ® a9 7 Ao
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2T I BT ITART 6 ST ATAT N 6T T 367 2.5 FH1 & 5 Felt 7 =m

ATEHET (&) TEm i Arghr i a6T 2f aREx @l 2.5 em 3R 5 mm T@T S

FTAT LM H¥ gy o ;17 T (a5 — 30 TE)
Jagadish Chandra Bose was a pioneer Indian scientist who is well known for his work on
the wireless transmission of information using microwaves. Invited by Lord Rayleigh, in

1897 Bose reported on his microwave (millimeter-wave) experiments to the Royal
Institution and other societies in England. The wavelengths he used ranged from 2.5 cm to 5

mm.
Write the frequency and wavelength range of microwaves. Also find the frequency
corresponding to the wavelengths 2.5 cm and S mm. (See — 30 Lesson)

4. Ruffes ¥ 9 & & 1957 $1379% 100-150 asat & 4

Answer anyone of the following questions in 100-150 words.

(A) F=T o & s a9 9a F T UF ST a1 HET § S UF J9d & &9 § § Sad
AaTs ST SETE FH: 40.25 Hew ¥ 30.75 Hreax g1 & sraw & it Hiur F qrr-ary
F F (R g Ageris AT ST 9aT 8) § FA4T O Fd g0 AT @ i /TR
T a7 FREAT ot 2 T 2

(i) |THF ST T AT H L@ g, (T % ©d & =% 2l 0T, m2 JAT cm2 A1 |

EAER!

(ii) YRR s i qErEaT ¥, £ F aferHr Herae afeer v [Adernia srer i

o 7 zre afaelt & =9 # =7 w4

(iii) @fzer awT =1 Faw i afearfva s S s e = gt

A= it oraT F forg fRaT em

(iv) =T % &fast sz Seatex e afzert 1 &g ¢ #wie E Ja ficmn

qT5-1 39

Rishi is a farmer who owns a small piece of farmland which is in the form of g rectanglg
with length and breadth of 40.25 m and 30.75 m respectively. Rishi moves along the

boundary of her farmland starting from one corner (assumed to be origin) and covers half of
the boundary of her farmland.
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(i) Calculate the area of Rishi’s farmland up to correct significant figures in both m* as
well as in cm?
(ii) Express the net displacement vector of Rishi in terms of unit vectors along
coordinate axes by drawing the relevant diagram.
(iii) State the law of vector addition which you used to find Rishi net displacement.
(iv) Find the dot and cross product of Rishi’s horizontal and vertical displacement.

(See Lesson — 1)

(B) STHTT (= ¢ F A9 W HIW H FAATd q9T 3@q1 g T+ Wgr e & aa 7% =t
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(iiii) =TT STATT % $Fe & MU eT9% &7 ST o7eF & A AT A ATAT GoeT JIAT
STT T ST o sl el o T TSca-3TI0T il TR Td Hioul (IS -4,7)

Arman while driving his tractor in a muddy field observes that the mud clings to the tyres
until the speed becomes too high and then it flies off tangentially as shown in figure given
below. The diameter and mass of the rear tyre of Arman’s tractor which is stuck in a muddy
area and rotating at one place, is approximately 70 cm and 56 kg respectively.

)~

(i) State the reason why the mud stuck to a tyre flies off tangentially during the motion
of the tyre.

(i) Find the maximum range and maximum height of mud thrown from a tyre if the
initial tangential velocity of mud on losing contact with tyre is 2 m/s and angle of
projection is 30° according to the diagram given below:

@ Mud
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(iii) If the rear tyre of Arman’s tractor is considered as a Hoop rotating about about the
central axis. Calculate the moment of inertia of the tyre about the central axis.
(See Lesson —4,7)

5. fufefaa &9 BT U 91 #1392 100-150 st § 2 4
Answer anyone of the following questions in 100-150 words.

(A) (i) 9% % 1T T SIS AV ST AR A B AT AT G AT HT ATATT AT
| [ 5T = 8 H 92H 1] &7 HreY S| 1 u 8, O TRHTI & JTY 33979 16 u 8]
(ii) =T = STOLEH T SET A AT AN ATET qA AT THI &I 82 T AU[ET FT I
AT FHATST TIAHT 71 F+74T: 2, 3, 5, 7, 11 THTE 2 (I13-10)

(i) Find ratio of the rms speed of the hydrogen molecules and oxygen molecules at room
temperature. [Given: Molar mass of H is 1 u, Molar Mass of O is 16 u].

(ii) Are the mean speed and root mean square speed of gas molecules the same? Explain by
taking the example of five molecules that have speeds 2, 3, 5, 7, 11 units, respectively.

(Lesson — 10)

(B) (i) ®I¥ Fuxis FAT 2 J2T I THHT 719 FAT 87
(1) i ) LA e P L R B 1 e R M i R
ARA-UA1 HIT ATATELOT KT AFAT FA 6 o0 UF I 8, oF G siafeer
SAHETT T (3AN) 3 AT o Wiy Siafeey sIqeens Seq i g a97a7 s
e T 81 =& gt st 3 e faem faeg S Sitme S 1 (L) Fam
H STHT ST &, § @7 AT &, S AT § owrswr 1.5 faferas Bt g 8 e afsomar g &
ATET-TA1 gt & ey 1.5 fferw ot g7, 9 o o [t w=ar g, st e

T T FT AT 1% 2
SURE AFET T ggrar F, L1 {85 3 Smeame & & aF Tore g0 §, TS a7 § uge
FTAT HIX SSTT T SIHATT TG (AT>-12)

(i) What is solar constant? What is its value on earth?

(ii) Read the source given below and answer the question that follows it:

Aditya-L1 is a satellite for studying the solar atmosphere, designed and developed by the
Indian Space Research Organisation (ISRO) and various other Indian Space Research
Institutes. The spacecraft is placed at a special point called as Lagrangian point 1 (L1) of the
Sun-Earth system, which is about 1.5 million km from the Earth i.e. Aditya-L1 stays
approximately 1.5 million km away from Earth, directed towards the Sun, which is about
1% of the Earth-Sun distance.

Using above data, Estimate solar energy reaching the region around L1 point per unit
area per unit time. (Lesson — 12)

6. A= & T aRAISATRN § § HE TH TRASAT AR Hfo | 6
Prepare any one project as given below.

(A) UF " FYTET 7 AT w4 (radaHrs = 1.5) F At gaqor 39 |40 Fw°r a9, e
FIhe LT, ITehT Aagl il aohdT #hl TISAT & HIT o ATETE AAT-3AT g 3T 375 Ly, Lo, Ls
AT La % &7 | rfega ram gratl, T &9 9ua g & a1y [WiSa g1 v i 39k a9
S gagt i awar f Brear F 7 F "ot frawer € a9t gar g S A= & 7 arforsr §
3T AT B UF UTEF TS 10 om HIRA T FT UF o GLEAT ATgdT gl A [Atar H g

T 1 &7 S 3T AR
S qAgT [ Il T =T
R1 R2
L, 10 cm 20 cm
L, 30 cm 6 cm
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L3 10 cm 00
L, 15 cm 15 cm
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(975 — 20 3Q)

A lens maker designed various convex lenses made up of ordinary glass (R.I. = 1.5) having
different focal lengths according to the value of radii of curvatures of their surfaces and
labelled them as L, L,, L3 and L4. However these lenses got mixed up with their label intact
and he is left with data pertaining to the value of radii of curvatures of Lens surfaces as
given in the table below. A customer Raju wants to buy a lens of focal length 10cm. Which
lens should the lens maker give to Raju?

Lens Radius of curvature of surfaces
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(B)
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R R»
L; 10 cm 20 cm
L, 30 cm 6 cm
Ls 10 cm ©
L4 15 cm 15 cm

Raju brought the lens with a focal length of 10 cm to his home and produced the image of a
needle of length 1 cm in different cases by changing its position. Fill the table given below
based on the different positions of the needle:

.. . Value of [mage is sIcsrteléfl Qraw L
Cas Position of Position| Height Magnific virtual & required diagram on
e obiect of of ation Erect or for graph paper
No. J image |Image Real ALr using a suitable
(m) Inverted? obtaining scale.
the

1. |Scm . (graph of Case
(between O -10 +2 cm +2 Vlgu al & No No. 1 is shown
and F) == o at end of table)

2. |6cm
(between O ...... U I I IR
and F)

3. |15cm Attach or paste
(between Fl ...... R I I the graph sheet
and 2F) for each case in

4. |20 cm your response
(at2F) ...... R [ I sheet.

5. |30 cm
(beyond 2F) | -+ 50000000l Illocooo ool Illcooacoooodiill Bllocoooc0a0s

, A
R \
2
Easr e
RE glr B Iz oF

L
=]
i
o
o
=]
|
.
o
|
o
=
(]
|t
=]
7
[y
/
/ 1
b
[
o
(7]

Show the necessary calculations to support your answer at each step of vour project.
(See Lesson — 20)
T SE9TE it gFAT & I H SATernier IHHRT a1 sitEt | ferdt 1 At S & e
ST €, T gt S st i €T gl € S aRqU gue qgd g7 el § S AT,
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FTALH TS &1 F@ % o7 BT Srar g1 U8 Sushor gy Siafaes & =aior 1 faa= %
form ua T e aATa)

(i) U TRl T & AT AU SHHT ITART AA, TS A1 STET Tgd gL 00 T&qAl i
@ % forw o Srar g, v ST S o i U SIS T STANT Fdeh (Soree fohar
AT g1 U ITFRIOT GIT T TervaT o AT 7 g9 3 o1 ueh foReor s aamo)| |JreTe
FHTITSIT § THeOT ST &7aT &0 G ST 7 Hlfory)

(iiii) TSI, TF T of oA foreareft 8, 37 @i s # wgdt = § ST 9 and, 98
AT o I | TeTAT FLAT ATEAT gl IA9 F¥ 9 Uk Threfir 957 *fSrea w3 &1 fa=mw
TR ST 39 Ot & Rty ® | a9 arer A, T2t e # Ty w9 ¥ 3@ § 6Es
FT Toh| TEF [oIT I AT 919 HIGE AT AT-3TRT 61 § F UF ST o9 H7 ITIET
FAT B, et fHEwor A= fom = 2

g HIhe T EE]
L, 30 cm 5 cm
L, 20 cm 1.5 cm
Ls 10 cm 1.5cm

Fifeea gatefir o= 1 ATHTT AHTASE § @9 #va sfiv 33 fAwew awar F
FAFTT AMFAT AT ITH FLA % 1T TIAT Bl | dF i Y ST I F1=20?
FY 3T T ATEAT Ff (uTs — 23 TW@)
We get most of the information about the surrounding world through our eyes. But as you
know, an unaided eye has limitations; objects which are too far like stars, planets etc.
appear so small that we are unable to see their details. Similarly, objects which are too
small, e.g. pollen grains, bacteria, viruses etc. remain invisible to the unaided eyes. How can
we see very minute and very distant objects? The special devices meant for this purpose are
called optical instruments.
(i) Name optical instruments which are used to see very minute objects like pollen grains,
bacteria, viruses etc. Draw a ray diagram to show the formation of images by such a
device.
(ii) Name optical instruments that are used to see very distant objects like stars, planets
etc. are designed using a pair of suitable convex lenses. Draw a ray diagram to show the
formation of images by such a device. Also derive an expression for its magnifying power
in normal adjustment.
(iii) Rajni, a very inquisitive learner, has a deep interest in astronomy and wants to study
about stars, planets,etc. visible in the night sky. She decided to design an optical
instrument at home which could help her clearly see stars, planets,etc. using a pair of
lenses among the three different lenses she have, whose details are given below:

I.ens Focal lenoth Anerture
L, 30 cm 5 cm
L, 20 cm 1.5cm
L, 10 cm 1.5cm

Which pair of lenses Rajni should choose to design the desired optical instrument in
normal adjustment and get the maximum magnifying power with high resolving
power? Explain your answer. (See Lesson —23)
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